pr

-8 In the given figure, if AB||CD
( X+y. |

CET FULL COU

1ST SHIFT 9 NOV FOREST GUARD ANSWER KEY

A T8 angfa IIfEABHCD. Gl X4 ‘
then find % _ac! ‘

SE FREE

i B
A X A
RAJASTHAN 8
E 5 - D
D
F i
) -] B o
(A) 110° (B) 125° (A) 110 :01 1250
. i e aui E‘lmx?ﬂ?ﬁo 2 3R 7 Tul
9. Asum of moneyin 3 years becomes % 1344 and A @ wifdr 3 1344% i N
in 7 years it becomes T 1536. What is the ¥ 7e 1536 T8 Il B | 98 e : LRl
principal sum where simple rate of interest is STEl RO TSl &% FIRe @l ST 87
e (B) % 4000 e N0 S
1200
: > (D) 1500%
(C) T2800 (D) 1500 () 2800% | '
10. The average age of 3 children of Arihant Singh  <10-  Rea Rig @ 3 aeai @1 3fiwd Y 12 q9 e
is 12 years and ratio of their ages is 3:4:5. What 3R I ATG BT AU 3:4:5 B | IUD T
is the average age of the youngest and eldest BIE 3R Wad 98 = B AT\ g w1 B,
child, if he.had only three children? e Swa dae A= aw 97 (4 ¢
(A) 12 (B) 21 (A) 12 (B) 21 o
(C) 9 (D) 8 ©9 (D) 8 ;
1. |f ‘@’ is the area of an equilateralﬂtriangle and M. gfe TH HETE ﬁl’ﬂx_ﬂ T S ‘a’ Tl m )
'b" is its height, then the value of - is - b’ & @l h;z & T B — o
(A) L (B) 3 (A) 1
7 i ° )& ® v3 A
3 3 2=
12. Find the least number of six digits which is *Z B aim o T TR ¥ v w o S 12103
AC I ai”ﬁq F
exactly divisible by 15, 21 and 28 - S 15, 21 3R 28 7 qufe: Remren 2y
(A) 100480 (B) 100340 . (A) 100480 () 100340 ol L L
(C) 100270 (D) 100380 (©) 100270 ©) 10038 S 5;
13.  |n what time Z 1200 will become < 1344 at the % fygy T # 1200 3, 6% 5 R l
rate of 6% annual simple interest? Bl ew 13447 & i N T T
(A) 3 years (B) 2 years (A) 39 (B)I o h
(C) z_lvears (D) Biyears (C) 2-1-?_[‘& EITI ; v 1)f _‘_t
———— ________———'—-——_"___'___'_‘-——__—__—_-__-__‘___-_---_‘_ - B - rth
— o e ~ PaQE 3 of 16‘\m‘%—1—st‘1_—1 e & rL . _ltq\
130-C A Y L 1 L b A=)
at Sv {1 £ L{ b 15‘5"1}‘- Lﬂ“l \ S _)-( --..__n
%0 . Lj;x.‘.;f}_} mc;j(_\c L{e?‘ \\.‘Q‘j:f ‘l E !:0 x
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/ARG, if ZA - ZB = 15° and
0° then ZAis equalto-.

(B) 65°,

(D) go°

ain 100 m'long passes a bridge at the rate

i
0 bridgeis -
© (A 150 metres

(C) 400 metres

S #

(B) 300 metres
* (D) 200 metres

RS ) ;
% i (x.-l-i = Z,then (}Eilf_x—z)f,lis-equalto-

‘-““.e price at which the first was
otal profit earned on both the
wones was 5%, what was the cost price

of one mobile phone?

(A) ¥ 6000 (B) T 5000

(C) T 8000 (D) T 4500

l'f3751 % of a number is 45, then 87;% of the
number will be -
(A) 145 (B) 115
(C) 105 (D) 135

6. Rajeev earns 3/2 times in January, April, July

and October than his average earning of ¥ 600
per month in the rest of the months. So his
savings in January, April, July and October goes
to 5/4 times than that of rest of the months, i.e
saving of 400 per month, The aver;g.e
expenditure per month is -

of 72 km/h in 25 seconds. The length of the

o Brpe ABC N AR LA - 4B = 17 K
/B-/C=30°%, % LA TR & —

(A) 75° (B) 65°

() g5° (D) 80°

L2 400 #rex ol g 7 72 fpafy /Ee AR

@ g 25 das A OR Fd ¥l g W
GELER:

(A) 150 #rex (B) 300 #e¥
(C) 400 #rex (D) 200 Hex
B afy (x+3) =28 7 (x2 + ) TR R -
(A) 2 (B) 5
(C) 4 (D) 6

4. e @ BT W Gl AEES B WS Y| U
&7 30% @ AT TR = AT AR TR DI A
Haed @ fAFg o | 2500 IHH UR a4
77| fy SR AT B R AR qger e

5% ofl, €l U® AETE B BN AT gl

o7
(A) 60003 (B) s000%
(C) 8000% (D) 4500%
S ?ﬁﬁﬂﬂﬁmaﬂa?%% 45 ¥, dY e P
87-% &N —
2
(A) 145 (B) 115 E‘%
(C) 105 (D) 135
B

RN S, i, e iR o ¥ a9
g TN @ aivgg 49 600 2 i w&T @
3/2 TT Ul & | S ST, andved, e
400 WA BT 5 /4 N

TR S @ Ty A1 € | IHaT ufd

(A)
o : 266,68 HAIBREFHAN CLASSHRI66.663 (B) 433337
i 250 (D) ¥ 233.33 (C) 250% (D) 233.33 7
. personsreap 1/5% field in 6 days. How m | ' AT, S .
persons (with same efficiency) are require;:: 2 ;G;{ﬁg;? 1LY S we as Bl 8
reap rest of the field in 8 days? - P @ oy frem et (et
(A) 54 (B) 27 ;&:ﬂl W) B Sraedar B
(C) 64 (D) 48 4 Z: ((z)) 27
= - 48
30-C O " Page —
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%% o YT
Mo N b 2
FIOCA 28 A7 e

4 v . vl *h % i
:__1‘, R e ;\

e )
-5::T§I.h%§§ﬂ? between two numbers is 7:11 and LAY ) vl B e 7:11% 3R ST e

el LCM is 154, The first number s - QA 154 | el WEAT § —
- (A3 (B) 7 (A) 32 AB) 7

< P St A

. Ona ®) 22 © 14 il
157&1!;'1}5‘“3 given figure, O is the centre of the circle. A5 & g agpfa 1 0 gT B T £CBD T
. Find.Zcep. | i
SR

-
e 15T

o 4
R o B o » 1
(A) 130° (B) 140° (A) 130 (B) 140 =
0 (C) a0° (D) 50°
A A e P ¥ @ R S A WA I (5)
/ 46.  Which of the following pairs have the same SI L . THIME. (
Vi units? gprI=Al & B) aile
(A) Momentum and  (B) Force and distance (A) T1fey 3R 9 (B) 91 EAll
force . (C) 9a1 3R &am@ (D) B 3R Sl
(C) Force and pressure (B) Work and energ | . ]
17.  The dimensions of coefficient of friction are - T Tonie @t A E -
(A) LT (B) LT (A) LT? (B) LT?
(C) Dimensionless (D) MLT?? (C) famré= (D) MLT?
18. Which of the following pair (Disease- freferRag 3§ A B A AR (FFT—FH) T
{4 '

Deficiency) is incorrect?

(A) Pernicious anaemia — Vitamin Byz

(B) Marasmus — Protein and Carbohydrate
(C) Pellagra — Vitamin B
(D) Hypokalemia — Calcium
18. Spherical forms of rain drops is due to -
(A) Gravitational force (B) Surface tension

(A) TTa® YeRTeTdl — faeTiE 4l '
(B) IRIETH — WISH 3R HHEeEse Eﬂ_,.-i
(C)m*ﬁﬂﬁq#[a -
(D) greurb iR — dfeer™

Tui @ g&i BT WA B BT BRI & —

(A) THea@yel ae (B) g T

3032;’31 5% 1 30327%’1 51 % 1303278151 1303273151

(C) Density of water (D) Air pressure (C) 9I&T &1 U=icd (D) gReTE
20. Red colour in tomato is due to - THIER ¥ ole 1 fhae SR Ean &7
(A) Lycopene’ (B) Capsaicin (A) FrgRIdH (B) stz ;
(C) Anthocyanin (D) Xanthophyll (C) vararsfe (D) Sidifthet
21.  The velocity of sound in moist air is more than F&L— T g1 ¥ @y 1 a0 YDH 'G Dl A ¥
in dry air because the moist air has - fF Brar &, Fifs W g1 A B § —
(A) more pressure than dry air. (A) I[<F &1 BT el A AD T |
(B) more density than dry air. (B) I &a1 @1 el 4 HE® EHT |
(C) less pressure than dry air. (C) [ &l B gl FI &H A |
(D) less density than dry air. (D) 3=s &4l Bl qoien # P T |
N B ) o
e Page 4 of 16
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ra
r

Wh‘Ch instr .

gl ofutrinim ® used to measure the 22, Rpell IS W FRT S B B A

source in termgs tf Rroauced By ah unknown 1 A S| @ w9 § Aod @ fog fhw
Of a standard source? ‘ &?

O ource? JUGYT BT SYYRT favan e &

(B) Dynamo AR B) Sra-IMIMICY
(c) Cal'lpers (D) Yy meter ~ (A) ; r (B) {iid
2. \Whi Photometer Lo (C) wferad (D) WIERIER
ich 'statemgnt(s) is fare correct regarding\o_’) 2 s &y g ® FEy ¥ HiF Ar/d
Daiton's Atomic Theory? : L FU TR &/
() All matters are made of very tiny particles. g:lg () Wit uerf Tga Bic Foll ¥ B &l
() Atoms of different elements have differentt () fafy= ol & ORI Eﬁ Eklyl 3R
masses and chemical properties. S_j YAt 1T ﬁﬁj«-fi‘{-—ff E‘rﬁ gl _
() The relative number of atoms is variable in (1) faeit oA AN # RAraRi @) |eT |
any compound. f_lﬁ’ﬂﬁ‘"‘lﬁhﬁ" &l B | ‘
(A) Only (and (1) (BY A1), () and () (o (A) @ (1) 3R (1) (B) (), (1) SR (1)
(©) Only (W and (W) (®) Only (Nand () =5 (@) =9 () 611; (g) (D) @ae 1(123, mm
24. \When a gas is heated at constant pressure - M~ 2 Em fail AR Ll
(A) Its temperature will increase g}j (LA)F i
(B) Its pressure will increase N % (B) : ] CATA T Wﬂ!
(C) Both temperature and volume will increase _~ . HTEWT;T” o o
- ill . s
(D) -I::il:::sre pressure nor temperature Wwi (O I N T & 5 qﬁi; .
25. Element having maximum electron affinity is - E 25 3””“:"”' gOIag I 9T E'BTW e & —
(M Lead (B) Lithium %y Rre (B) ferdrar
(C) caesium (D) plutonium - '(“:I (C) s _ (D) ey
26. Which of the following is an example ofg}ﬁ' fr=ifeifaa § A a:lq‘ﬂ?[ %d @1 SN H BIdge)
colloidal solution of liquid in solid? o fasra &7 ISTENT B
(A) Rubber (B) Cheese ~— (A) g3 (B) ¥
(C) Milk (D) Shaving cream (C) qu (D) 9ifefer whm
Y_. > ) \
27. Which one of the following phenomena cannot.) 27> Fr=ifeiRad A & {59 wes @1 yo19r & e
be attributed to the refraction of light? o & forv AR a8 o ST el 82
(A) Redshift (B) Rainbow I~ (A e Rge (B) gsurgd

(C) Twinkling of starfR R)JMISEF H A sG(QASSEm (D) g
Calorific value is in the order of - Iktflza s T & B R -

(A) PrfErESe > a9 > S

(B) g1 > wrateTSSe > WIEH -

(C) g7 > e > Hﬂ?ﬁ?TEEE

D) U > FIaEISSe > adl
TR @7 Qe w5 E -

W) wrgg A g7 e Y9

B) e Sfrm e om

: © firen g7 4@ @ T R
T N T i i a5edrc N . o ~ _
%) ysecem of Navigation And Rese - ©) firey st AR TR R

Dano B »l 4.

28.

(A) Carbohydrates > Fats > Proteins
(B) Fats > Carbohydrates > Proteins
(C) Fats > Proteins > Carbohydrates
(D) proteins > Carbohydrates > Fats
29.  Fyll form of ‘SONAR" is -
(A) Sound Navigation in Aircraft Range
(B) Sound Navigation And Ranging

(C) System in Navy And in Receivers
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D w0, it @ [ T aviE S @ S e
= "In which part of the eye lies the pigment that >~ ol @1 ¥ fFrerRe @war 87
decides the colour of the eyes of a person? ) i (B) BRizs
(A) Cornea (B) Choroid (€) 3R (D) fagg 4@
(C) Iris (D) Vitreous body 31, fard R 7 S 2022 % UH 99 w@rey
31, Which district has launched a special healt" gl AT 3TE’ {Rﬁ_ﬁv‘m 87
care campaign 'Aanchal' in June 20227 (A) 3TSTHR (B) YR
(A) Ajmer (B) Dungarpur (C) wRIetl (D) SETQR
(C) Karauli (D) Jodhpur 32, W 2022 W, Vo @ fdE A J

ilicosis : _ < ?
32. Which Ministry of Rajasthan launched sil Tm ‘Cﬁ?.'ﬁ 2022 &1 AT
Portal 2022 in May 20227 (A) wreg HATd
(A) Ministry of Health (B) 3 i afte :

B ini f Disaster _
(B) Ministry .of Disas 5 e

Management $nd

Rellef t & Climaté changé
o M En: "°"£§Z justice  and (D) wrifoies =T Td JAfrpIRal HATed
(D) Ministry © ' )
Empowerment . ted the 33 TRz I TEEId A SR H ISR B
3. Chief Minister Ashok Gehlot in2uB4™® =5~ woita wed (s RefRface dex @
5" Pajodthan Hign perfornance Spores 50 et o —
in Jaipur at - .
Rehabilitation Centre in daipd A R
(A) Sawai Mansingh Stadium - =—oa E.:‘:E
(B) Railway Cricket Ground . (B) Xerdl |a_iEISE es H ‘
alw .
(C) Rajasthan University Stadium ~ (O) v gHaRid) xrél_%zm %
(D) Vidyadhar Nagar Stadium (D) faemr TR wfeaq 4 L
34. \What is the place of Udaipur in the ranking of 34+ arld 2022 H, W 100@13‘ e &y IfpT A
100 smart cities released in April 20227 ' SRR B HIF A1 R e 87
(A) Second (B) Fourth (A) a1 (B) werm
(C) Third (D) First (©) =T (D) ggelr
35. Who is the Industries Minister in Rajasthan at 35 i ¥ YoReE # SET HA B &7
present?
f:) Bhajan Lal Jatav  (B) Shakuntala Rawat (A) 3o wret wired (B) e Rrad
eghwa -
6. - N
V‘{h? was awarded by RB.I. for writing books  36- @IR. dI. g, ERT wRfIA /dfET /o R
:r:agr:zj:vg " H;»mdl on economics/ banking/ R el w9 § o= A fhard forem & forg fvd
IssUes: :
_ RIGd febar war? :
(A) Ra,lendra Chahar and Dr, Rajeev Saini (A) Wﬁ? SRR G'ﬁ? E‘T I’Wﬁ'cl '\EI‘-?[
(B) Professor Renu Jatana ang
Dr. Sagar - a = .
Saawariya (B) WIHHR V] Sl am 8. ¥R wiaRkan
(C) Manju Kumari and Dr. Radhika Baja; (C) HY], FART 3R €. BT goiret

{D) Shrishti Deshmukh and ShrUti Slhag (D} ‘qﬁz égpj’@ 31"‘;? a’% ﬁ{gr]]' :l_;
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L) o

Atwhich place in Ra
g ajasthan
2022" was organized op t: Suraksha Manthan 37,

€ aspbitsiof b vroreer # fh v oy A iR acr e

and coastal Security?

@ Uggell W GREN Wy 2022° BT A

(A) Baran (B) sri Gang  frar Tar?

C) pi anagar . ‘ .

(C) Bikaner (D) Jodhpur (A) arT (B) SRR
3 (C) drarR (D) STETgR

has been renamed as Mahesh Nagar Halt?
(A) Barmer (B) Jaipur
(C) Bikaner (D) Jodhpur
9. Which scheme has been launched by the
Rajasthan Government to provide financial,

nutritional and educational support_t
RAJASTH

patients?

(A) Nishulk Nirogi Rajasthan Yojana

(B) 'Rajashtha'n Government Health Scheme
(C) Rajasthan Nikshay Sambal Yojana

(D) Chiranjeevi Health Insurance Scheme

In which district 'Miyan Ka Bada' railway station .38

39.

e Rrer % Rerg ‘i &7 arer Yerd I
I HRW TR e & faun T 8?

(A) areie (B) SR

(C) TR (D) GTergR

ol TRPR ERT . il @1 fawdy,
arger o B T YaT @Y & fRrg B
A e I6 B IR 87

AN CLASSES .

(A) fAagen RTSTRT
(B) YR ERBR IR AT

(C) o REr ¥l AT
(D) RSNl WRea 4 Ao
AR 2022 YETHT @I M fra wER A

40. |n _Whilczl;g;t\} was the Medifest 2022 exhibition it
organ ' e
(A) Kota (B) Jaipur i 15 W&a
(C) Bundi (D) Jaisalmer : (C) gaT (D)
41. Who was the ruler of Sirohi at the time of the 41 &=l @ & & Wy RRE &1 e
Battle of Dattani? o — ) .
(A) Maharao Surtan  (B) Amar singh Rathod (A) HERTd R (B) arR RiE wEte
(C) Rao Karan Singh (D) Q{Iah;_rav Vijay (C) x1a @l Rig (D) R fasraRie
ing
42, \Who was the Maharao of Kota at the time of 02. fpay 1817 W oG @ W W@ @ W
ty with the British in December, 18177 PIeT ® TR B A7
ishor Singh (B) Ummed Singh | (A) freiR Rig (B) SHIERIE |
Ram Singh | (D) Ram Singh II- (C) YWmf¥E | (D) IHfRE Il
he festival of Gangaur is celebrated on which 43, TRk @1 AER el fafdr @1 FEET S
date? 27
(A) posha Shukla (B) Chaitra Shukla (A) drg gaer g (B) CERICRiRIR]
Tritiya Tritiya |
(C) Falgun Shukla (D) Magha Shukla (C) T Yot garar (D) Hre I e
Tritiya Tritiya
" As per administrative report 2020-21 of the A4 @ frrT @ wRITEfTE RUTE 2020-21 7% IFAR

forest department the total forest area in
Rajasthan is -
(A) 32,737 square kms E_A‘E‘f
(B) 31,845 square kms :
(C) 32,200 square kms
D) 32,863 square kms

ISR &1 Gl a1 &3 € —

(A) 32,737 @ &AL,
(B) 31,845 g7 fh A,
(C) 33,340 @f fai .
(D) 32,863 aif Bl
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45,

46.

47.

48,

=2}

49.

52.

50.

v——_

Which of
MGVEmEnt L
(A) Bijolia —

the following pairs (Peasant
Eaders) is not correctly matched'}

(B) Bung; 12V Singh Pathik
(C) B Navanuram sharma
Meo ~ Yaseen Khan

D
fr ) Begun -"ﬂagharam Vaid

he place KoM village js associated with which
folk deity? N
(A) TallinatR

(B) Devnarayana ji
(©) Pabuji o

(D) Ramdeo ji
In which Battle did Maharana Sanga defeat
Babur’s army?

(A) Battle of-Ghaghara (B) Battle of Panipat- |

(C) Battle hanwa (D) Battle of Bayana

For the heﬁbf which of the following states

Karauli sen !; army during 1857 revolt?

(A) Jodhpur= ~ (B) Jaipur

(C) Kota (D) Mewar

Which one of the following (Ruler

contemporary to Alauddin Khilji - Place) is not
matched coVrectly?

(A) JodhpurE:-Veeram Dev
)
(B) Ranthambhore — Hammir Dev Chouhan
(C) Siwana %hital Dev
(D) Chittoré%h - Rawal Ratna Singh

Which one of'the following (Cement industry-
Place) is not correctly matched?

(A) Mangalér-ri Cement — Morak
(B) Birla Wh(_:[e Cement — Gotan
(C) Shree Cement — Beawar

(D) 1.K. Cem%rrlt — Nimbahera

Shekhawati?™
(A) Bissau

(C) Nawalgarh
In how many phases was the integration of

(D) Mandawa

Rajasthan done?
(A) Six
(C) Five

(B) Seven
(D) Four

e—

51.  Where is N%uRam Poddar’s Haveli located in 51

RAJAS® MaAnkiCLASSES

52.

ﬁmﬁﬁmnﬁmw(mmm
Jyan) yfera el 87

(A)ﬁaﬂﬁﬁ?:ﬂ faora g ufdre

(B) e i

(C) Fg—ariE i

(D) T—TERM d2

Pl Ta fha A Saar | W 22

(A) oo S (B) QRIS
(C) urgeh (D) T it
TerRwn | A & g A aER @ I @
BYET?

(A) ameRT @1 oferg (B) ureiud -1 & e
(C) @™ar @1 wierg (D) 9T & e
FRIAT I 7 1857 D [Agie & SR fa
& HETIAT T AT JAT FWoA1?

(A) SiEgR
(C) PreT

(A) faars;

(B) weTee
(C) TaerTg (D) Hugray
NIORATT T Uantereor ey wroy 4 B3T7
N @ (B) wirey
(C) ur (D) #1»
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1

Lo, bz - 5 20T AR
The a0
Ra “‘,?FBEW“]U o Tl
(:]asth-a“:'-‘afé'- ™M Producing - districy - -
RN AR Ay S in 583 ; . X
(B)) JO]dF\pur and Na‘IgE.\UI' j : gmﬂ'ﬁ H _ @y IdEd forar
B_ar_an and Kal‘al'l'jl‘ - (A) 5 a .
(C) D-a.._:'J TH; I LN & Gn‘é‘w am :”TIW
©) ; 0 and Sawai Madhopur (B) RT3} re
W . (O g ok W AR
. unchala Mahavir’ Termnl. D) IR 3R SEIR
(A) M I Mahawr"wgmplﬁ;isIocated at - 54, ?113?,-") . %%ﬁ—j ey Rerd
ehal ~+ (B) Nakora e %Wﬂ‘
(©) Ghanerao (D) Kiradu o T e fa,—mé
95. Read the: following ﬁté.t;ehe t about ‘Vij TC) : --(D) . : Y
e BioLoreent about “Vijay 55 fro @ @ ar s HAA Bl
. 4 - gl . 1 £ (" | p
h) Itis a nine story tower. : (i) g = AfoTel W el 2
(ii) Mandan was its main architect. ' (if) TS ST T ARIPR AT o
.-Cth‘f’o.s_e the correct code- ~ ° wé @ I~ 8
(A only ()istrue s (A) et (i) T B ™
® only(ijistrue @ #a WEE T
' (©) Neither (i) nor (i istrue - © = 3 () A ()3
é'.__.f;(ﬁ)' Both the statements are true (D) h?fFﬂ e ﬂa b PR —
56. Who laid the fo_undation of Chittorgarh fort? 56. farilsTe Tiﬂg EREIE SN 9:‘? 2 L0
B () CiTiia s o3 Mor]| (&) Sawal Jal Singh R TIRE o
off & S = i singh (D) Jayant Chauhan (G) HBISH (D) it ™~
(C) Maharaja B & i pempferl i . o~
57. The pi ﬂres.made-‘iﬁ*'Pichwai' artefacts refer &~ ﬁfﬁ?ﬂ'&' ™y T4 o= 9gd fa T
L (a thé?ﬁ’fé"b?.m‘rd Shiva (A) wrar fra @ S | =
' (® the life of Lord Ram (B) sprar I & ST 9
(C) the life of Pandavas (C) uiedt & Sia :6
(D) the life of Lord Krishna (D) wrarg i @ Sitas A =,
In which of the following forts is the tomb of S8 @I A g e Y e H ¥ fod g‘fttc:)_
sufi Saint Mitthe Shah situated? . A Rera 22 o
(A) Gagron (B) Chittorgarh (A) AR (B) fariteTe ch
(C) Nahargarh ~ (D) Kumbhalgarh (C) ATENTG | (D) B¥eTTG ap)
9. Read the following statements — 59. fwferfrd FHeEl dI ufel — =
(i) Viratnagar previously known as Bairath is a (i) farreTR 1 Tl R @ A ¥ W
town in Jodhpur. ST o, AR BT U@ e =4
i) Birath PRI PR ASSES (e, 1 s 1 i
Choose the correct code - el G gﬁq - tf_-)-
(A) Only (i) is true (A) adt (i) FaT & N
(B) Only (ii) is true (B) @raat (i) 2! & }ih:
(C) Neither (i) nor (i) is true (©) = @ (i) & (i) 9 B &
(D) Both the statements are true (D) ST FHUF el € %
60. Where was the ‘Desh Hiteshini Sabha’ 80 I quR & I 79 Aol By
established for the purpose of social reform? T Wl B TS A7
(A) Ajmer (B) Jaipur (A) 3T (B) TRITR

(C) Shahpura (D) Udaipur (C) ¥EYRI (D) FTUR
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K;\l;h of the following pairs is incorrect?
aadla - Jaipur (B) Namda - Jodhpur
(€) Masuriya Saree~ (D) Marble carving -
Kota Tonk
In which of the following districts the sub
humid climate is found in Rajasthan?
(A) Udaipur, Rajsamand, Pratapgarh,
Chittorgarh _
(B) Ganganagar, Hanumangarh, Sikar, Churu
(C) Kota, Baran, Bundi, Jhalawar
(D) Jaipur, Ajmer, Alwar, Tonk
What was 'Daamani' in Marwar?
(A) A type of Jewellery (B) A revenue tax
(C) A type of Odhani (D) A Government
policy

5'2-

63.

64. Match the following -
(a) Chari Dance |
(b) Ranbaja Dance
(c) Shankaria Dance  (3) Gujjar
(d) Chakri Dance (4) Kanjar
Choose the correct code -
(A) (a)-(3), (b)—(2), (c}(1), (d)-(4)
(B) (a)-(4), (b)-(2), (c)-(1), (d)-(3)
(C) (a)-(2), (b)~(3), (c)-(1), (d)-{4)
(D) (a)-(1), (b)~(2), (c}~(3), (d)-(4)
Where is the Som Kagdar Irrigation Project
located in Rajasthan?

(A) Bundi (B) Kota

(C) Sirohi (D) udaipur

Which of the following Chhatri is not located in
Jodhpur?
(A) 8 Pillar Chhatri
(C) Jaswant Thada

(1) Kalbelia
(2) Mev

5.

(B) Mandore ki Chhatri
(D) Mama Bhanja ki

Chhatri
67. Where was the Bhawani Natyashala
established in 1921 AD?
(A) Ajmer (B) Jaisalmer
(C) Jaipur (D) Jhalawar

68. On 30" March 1949, greater Rajasthan was
inaugurated by -

(A) V.P. Menon (B) Sardar Vallabh Bhai

Patel
(C) Jawahar lal Nehru (D) N.V. Gadgil

13656 AL A 5T « Blyye 2

RAJASTHAN CLASSES

B3. fgrars H LT 9T ?
(A) U THR Pl (B) Y& VN &
AT
(C) izl &1 U UHR (D) Uh WERI
64. <ferd BT —
7 (a) TR T (1) Greraferar

ST 19218, ﬁmmmmﬁaﬂ :

Page 10 of 16

63 Py 3 N T W1 el e 27

(A) graell — ST (B) sHgT —
(C)xﬁiﬁm?ﬂ@ (D) HHOR &)
TFATN — Sy
62. Wqﬁm@mﬁ?ﬁﬂﬁmq?ﬁ
o wrerary TR ST &7 &

(A) Seaq, o, wadTs, fdeTe
(B) TR, BYHETE, R, TH

(C) wrel, ari, ga), SIS

(D) TR, TR, eI, TId

(b) TUETST T (2) HA

(c) THRAT Fe@  (3) ToR

(d) T T (4) BOR

[E THE v —

(A) (a)~(3), (b)=(2), (c}=(1), (d)~(4)

(B) (a)-(4), (b)=(2), (c)=(1), (d)}-(3)

(C) (a)-(2), (b)=(3), (c)—{1), (d)-(4)

(D) (a)-(1), (b)=(2), (c}=(3), (d)-(4) |
85. o d AW srer RiEEg gRae oy

Rera 87

(A)
(C) R

(B) e 7 TR L
(D) ey wffeT B O

(Alawaﬁwﬁ
(C) Srad ol

off?
(B) SiHerR
(D) FTaATaTS

30 A 1949 @1 g Ve @1
forae fae

(A) 1. @) 55 (B) HiReR  qout¥ ﬂl’%
ged
(C) STarer orret 1gw (D) wey, ), e

——— S ___.______.-4
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Premder_\t's rule was implemented second
* 0 Rajasthan state in -

8 e W= A TEd AR Ty IRE ]

fdsar T o7 —
bt . (8) 1992 (A) 1980 ¥ (B) 1992 %
1977 (D) 1967 (©) 1977 ¥ (D) 1967 #
 whom the Ward Panch, Up- Sarpanch - IRy | 91€ 49, SU-wRUd e Waiftd ax
idress his/her resignation? AT TG Sa1 /) &2
\) Sarparich (A) WRUT @
B) Pradhan, Panchayat Samiti (B) wur=, darad AR 5y
(C) Block Development Officer (C) wrs fawr AR 5y
(D) Village Development Officer (D) 7 AT m:ﬁ\f
Choose the correct descending order of heights 7_',1.- ﬁﬁﬁ%@qﬁﬂm B T T w FRE
of the following mountains - , £
(A) Taragarh, Khoh, Achalgarh, Ser Peak (A) ARTTG, TE, I, _""‘R e -
(B). Ser Peak, Achalgarh, Khoh, Taragarh (B) ¥R Ui, @_E’[ e, TR, ARTTG
(C) Achalgarh, Khoh, Taragarh, Ser Peak (C) JrHerTe, . ORFTE, IR G
D) Khoh, Achalgarh, Ser Peak, Taragarh (D) e, W W a1, URTe
hich one of the following woman did notgo 22 eAal AA™ a}’ R ﬁqﬁ"fﬁ?ﬁﬁ A DEH
jail in the freedom struggle? e Sie T T2 :
(A) Kali Bai (B) Anjana Devi (A) Trell 418 (B) o 34
(C) Narayani Devi (D) Ratna Shastri ' (C) ARl <@ (D) 3= I
- Where is ‘Rajasthan Police Academy’ situated 3. ToiRer H, IO Tforet sadl’ wet Rem
in Rajasthan? -
(A) Kota (B) Jodhpur (A) Fre (B) TR
(C) Jaipur (D) Ajmer (C) TR - (D) PR
Valaya ornament is worn in - 1A Toora SIRHOT YT Widl B
i RATAEHIAN CLASSES W ™ A (i
(€) Head (D) Waist (©) R ® @) TR ¥

Which one of the following statements is not
true about Berach river?

A) It originates from Gogunda hills.
B) Gambhiri and Orai are its tributaries.

C) It belongs to Ganga river basin.

)) It meets Banas near Gulabpura (Bhilwara).

1e dialect spoken in Dungarpur and Banswara
ea is known as -

) Malwi

) Marwarl

(B) Wagdi
(D) Mewari

B

5.

76.

Py & & @ W o 199 T D
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Ullr{—}l@jﬂﬁﬁ[i&ut ¢l

(B) S | \"Uii Raja IE"JHIHYIHH
w35

 List Il

d) Garment City (4) Kota
Code -

not correctly matched?
(A) Mallinath Cattle Fair — Tilwara
(B) Jaswant Cattle Fair - Karauli

(C) Veer Tejaji Cattle Fair — Parbatsar
(D) Gomati Sagar Cattle Fair - Jhalawar

88. Which of the following is NOT a function of thek"?
RAJASTHAN CLA CﬁES

Municipal Body?
(A) Poverty alleviation

(B) Public health and sanitation
(C) Excise control

(D) Fire fighting

f’{a ool Mandl (1) Kishangarh
(b’ Marble Mandi (2) Bikaner
c 'Kanpur of Rajasthan (3) Bhilwara

1303273151

(A) a-2,b-1,¢-3,d-4  (B) a-1, b-2, ¢-3, d-4
(C) a-4, b-3,c-2,d-1 (D) a-2, b-1, c-4, d-3
87. Which of the following (Cattle fair and Place) i

3273151
=

g

151

-———-_'_-.'__-__

e ———

Dana 12 nf 1R

@ IR (1665 Ap

iy |
(A) Rrarail — S I Safgy
(B) frarall — T ARz
(C) Rrarh — *TTIARTH
(D) Rraril — WA Wi
aﬂqﬂ'ﬁﬁ'ﬂﬁ'aﬁxgrqﬁﬁﬁﬂqfﬁmgiﬁwﬁg? :
(A) B - (B) iam
(C) SaaR . (D)

gqaamﬁaﬁaﬁwwmﬁ%w
arﬁﬁ?ﬁi’:ﬁ?ﬁ?—
(A) Trrel 3R a9 (B) gre iR
(€) 7= 3R (D) W 3R T

PrefrRa B e —
T - B B r’
(a) S HS (1) frare

(b) HTIOR el (2) dFFR

(c) TR T FHYR (3) Hcwarst

(d). e R (4) P

'dz\?— \

(A) a-2,b-1,¢-3,d-4 (B2, b-2,c3,04
(C) a-4, b-3, c-2, d-1 (D) 32, b-1,¢-4,d3
N e
gifer w8 &7

() wfesrTer gyper — faaare

(B) SI¥Tda qypive — @l j
(©) drY ool g - T
mwmﬁmmqqﬁm~ﬂfﬁ;ﬁwwﬁ
Prerfora 4 @ @ 7
TE &7

(A) T fareT
(B)WW@W
(C) arrgary [T
(D) aifF=er
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lch of the following statements is/are
) £Ct With regard to ratio of women per 1000
WAIes as per 2011 census in Rajasthan?
/(i) General gender ratio in all districts remained
lower to 1000.
(i) General gender ratio in Rajasthan Was lower
to national average.
(ili) General gender ratio in urban areas
districts (except Dholpur) remained lower
to 1000.
(iv) General gender ratio in rura
districts (except Pali) remained lower t0

of all

| areas of all

aymﬁ2011ﬁmﬁm~

1000 IOU W ARG & I @ @
Pretferad /B W w2
iy Rt 3 war i
el |
(i) RTOTRAT ¥ AT femm I
A ol |
(i) T Rt # @R B vew)
&=l e o s 1000 9
() T forell 31 (et Y Breay) @ -
# e o srgure 1000 3

1000.
— RAJASTHAN CLASSES
(A 1, i, i (B) ii, iii, iv (A) i, ii, iii (B) i, iii, iv
(C) i, i, i, iv (D) i, i, iv (C) i, i, iil, iv (D) i, i, iv
90. Katriyasar is the chief seat of - 90 FHaRanm wqw T E -
(A) Vishnoi sect (B) Dadu Panth (A) ﬁ‘z?ﬂ's‘ e @ (B) <5 U @l \
(C) Laldasi sect (D) Jasnathi sect © :ﬁw e (D) SRR TR B ;
e first conservation reserve for Bear in . 9. ORI P YAl el RIRYY & —
jasthan is - E
) Sundha Mata (B) Talchapar (A) e = (B) TTeToTay
(C) Kanak Sagar (D) Bandh Baretha (€) &% AR (D) aer avaT
‘Ranmal Chhand’ was composed by - 92, Jupyer gy @ XEen e @17 g
(A) Hemraj (B) Narpati Nath (A) BRI (B) =rRufer =7y i
(C) Dalpat (D) Shreedhar (C) Terd (D) iR :
Who defeated the giant army of British and .93 1857 o @ifd & ofiel Ud SR o B
Jodhpur state in the Revolution of 18577 Ripcail #1 frem wRifor foam or?
(A) ) : \ .
Thakur Kushal (B) Rawat Keshari (A) BraR BITe RiE 1 (B) wad aerd Rig 3
Singh Singh 3
C) e e A (D) SEEaTe A
(C) Tatya Tope (D) Jayadayal i
9 . . f
% Which of following is known as Tajmahal of 2% f= # ¥ fFY ARGTS T AIGTHES PET S
Marwar’? g7
) algarh palace  (B) Bada Bagh (W e e () S
© Jaswant Thada (D) Jagmandir Palace (C) S 218l (D) SrTFfeR e
95. AR I 3 T
L’*’hew;-ut’:crpi::hand Cave located in Rajasthan? A2 TR ghd i ﬁ% L
“ti Ihalawar (B) Mount Abu (A) Zrefrars (8) wrae 34
(©) Tonk (D) Jaipur (C) Tfw (D) SR
O Py oy o
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_36. ﬁmﬁﬁgﬂﬁﬁaﬁﬂmﬁﬁﬂwwﬁ'qﬁ,ﬁ

) sy & s g7
(A) SFITTE (B) TR
(C) WIS (D) TETg
Rae _ 97 i, YL R A G @
i Dy R senferfere et 77 3 R S @2
| (A) T TA - (B) IREdTeN T
(C) PR T (D) a1eR =
.98, fy=r d O fFFET g A wrereds or?
(A) IRTTG (B) #1119
0y _ (C) TG . (D) WITg
t-iil-"‘-q“?ﬁ.{ﬂ‘;ﬂfé!_T_J'.I- Place)is _.99. fymferiRad # & @9 W1 (drped — ReIT)
CLl:e : gofera =18l 87
(A) Brerm <41 — MR

(B) Tfemfer AT — M8 Hrele
(C)‘z'hﬂmmm-—m

(D) ard Hrem — 3Ry
al iscelebra 00 ST ¥ 4 1 B wdER TR S 2
3hadrapada"$h |‘l ti‘ya v (A) 95T gt g
“haitra K"'Sh”" '%QAJASTHAN CLASSE® =3 w1 gy |
Shravan Krlshna {ﬂ ;;ya ~ (©) 1T ooy e
3hadra Krlshna = I.,? (D) g Py gt

)PPO A57 - ©bye 2

CET FULL COURSE FREE----

RAJASTHANCLASSES.IN
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»t\}w\n re\atlon to “Kachchhi Ghodi” dance?

_hoose the correct code -
;fiﬁ) 2and 3 (B) 3and 4

 (©)1and2 (D) 1and 4

Dadhimati Mata fair is held in which of the
following district?
~ (A) Baran
(C) Sawai madhopur
79. Which (Geographical areas and districts) is not

(B) Nagaur
(D) Dungarpur

_ correctly matched?
- (A) Bhorat Plateau — Chittorgarh and Bhilwara

(B) chhappan’s plain - Banswara and
Pratapgarh

B), Kubad belt — Ajmer and Nagaur

MUbarmal  Plateau - Bhilwara and

Alby the ladies while going to fetch water
from the well

(8) during marriage ceremony

(€) by wife at husband’s death

{P) by females at birth of a son

Dharma stupa in Churu is also known as —
(A) Lal Ghantaghar

(B) Nihaal Tower

(C) Clock tower at Birla temple

(D) Vijay Stambh

The row of seven fire altars (Vedika) has been
found at -

82.

) Ganeshwar
'C)

'._f'i-,",,'jhpa'

(B) Ahar
(D) Bairath

1303273151

1

&

13@32731

_82.

303273151 1303273151

; ,:.:Wh\ch of the following statements is/are true  _#7- “Gedt 9 ge & wed A S/ BN

perT v &7

1. 7% T AfRen gu T E

2. 7 R @ S & W AR
B.W:ﬁmgzﬁwqqﬁa‘mmﬁl
.15 7o ST T 4 I G A

g8 @e IFT —
(A) 23R 3 (B) 33X 4
(€) 13k 2 (D) 1314

aﬁﬂ'cﬁwzﬁrﬁmﬁwqﬂmﬁ!ﬂﬁ
amrfora fran o 27

(A) @i (B) AAFTIR ' 1
(C) warE AER (D) YRR |
%ﬁ%{ﬁaﬂnﬁaﬁw(ﬁrﬁ%tﬁaHaﬁ?ﬁﬁ)
w8 gafera el 87 -

(A) ¥RTE 1 TSR — ﬁlﬁi@ﬂamwﬂm

(B) B &1 HigM — araars] AR TEe

(C) TEs Teel — TR AR MR

(D) SURAE @1 TSR — Hierdrst AR FieTe

1
!

Ser) i i e e & - s,
(A) HiRail GRT @Y W U o S
(B) fraTg WMRIE @ GRM E‘E
(C) ufy o §eg W I &I -
(D) 32 & o & \9F Al R
qaﬁuﬁﬂqﬁsﬂwﬁiﬁmm%*::
(A) TITeT EeTeR i;
(B) fgrer era”

(C) fav WY I HETER

(D) fasra w1 :

A it Al @ AT T & E -

(B) anee 9
(D) dv1e ¥

(A) oI9aR q
(C) @reham A

e —





